
Ord.No. 1003/51   Heckrotor Ord.No. 3005

  1  Technische Änderungen vorbehalten / Subject to technical changes

Beutel	 1
Bag 	 1

4x  90010
	 M2x6

4x  90010
	 M2x6

4x  90010
	 M2x6

2x  90365
	 M3x3

2x  90365
	 M3x3

96 
5x13x4

96/1 
5x13x5 96/1 

5x13x5

95/5

94/2

95/5

96 
5x13x4

92/32

92/31

92/31

Ord.No. 49/12

94/15

92/30

ca. 0-0,6mm

ca. 0-0,6mm

Ord.No.10/24
Schraubensicherung mittelfest
Thread-lock fluid medium-strength, 10 ml

Ord.No. 10/360



Ord.No. 1003/51  Heckrotor Ord.No. 3005

Technische Änderungen vorbehalten / Subject to technical changes   2 

Beutel	 2
Bag 	 2

90010 
M2x6

Ord.No. 34/33

90015 
M2x8

107/12 
Ø 4,8

3x 100/8

3x 100/7

99/9 97/7

97/30

98/15

98/15

90810
3x5x0,5

90425
M3x20

90485
M2

3x	90370
	 M3x4

060
M2

Ord.No.10/24
Schraubensicherung mittelfest
Thread-lock fluid medium-strength, 10 ml

99 A 
6x10x2,5

71/11 
3x7x3

107/24 
2x5x2,3

90538
2x4x1

101/19
103/10

054

M3
Ø 6,2

Ø 6,0

94/6 
3-teilig

90547
3,8x7

90062 
M3,5x8

99 a 
6x10x2,5

99 a 
6x10x2,5

91310 
6,3x7,85x0,18

71/11 
3x7x3

3x montieren


